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Sr Questions Answers Choice

1 Which mountain peak located between Astore and Chilas _____.
A. Nanga Parbat
B. Raka Poshi
C. Haramosh
D. None of these.

2 Nine sq foot is equal to:
A. 2 sq yards
B. 1 sq yards
C. 3 sq yards
D. 4 sq yards

3 One sq foot is equal to:
A. 244 sq inches
B. 144 sq inches
C. 444 sq inches
D. 344 sq inches

4 Temperature is measured by:
A. Watt
B. Degree Celsius
C. Specific heat
D. None of these

5 Which of the following is the unit for measurement of power?
A. Watt
B. Joule
C. Volts
D. Kelvin

6 What is measured by the unit joule?
A. Work
B. Energy
C. Quantity of heat
D. All of them

7 Which quantity's unit is kilogram cubic metre?
A. Volume
B. Density
C. Area
D. Momentum

8 Name the quantity that is measured by the unit coulomb.
A. Electricity
B. Electric charge
C. Atomic power
D. Electric difference

9 Mention the unit that is used to measure the electric resistance.
A. Kelvin
B. Ohm
C. Watt
D. Coulomb

10 Force is measured by:
A. Pascal
B. Newton
C. Kelvin
D. Ampere

11 Radiation activity is measured by:
A. Coulomb
B. Ohm
C. Becquerel
D. All of these

12 How many millimetres constitute one centimetre?
A. 10 millimetres
B. 15 milliemetres
C. 12 millimetres
D. 20 millimetres

13 Which of the following is constituted by 10 centimetres?
A. 4 decimetres
B. 2 decimetres
C. 1 decimetres
D. 3 decimetres

14 What figure in decametres shows 10 meters?

A. 2 decametres

B. 1 decametres
C. 3 decametres
D. 3 decimetres

15 How many hectometres are there in one kilometres?
A. 5 hectometres
B. 10 hectometres
C. 12 hectometres
D. 15 hectometres



16 1000 micrometres are equal to:
A. 4 millimetres
B. 2 millimetres
C. 10 millimetres
D. 15 millimetres

17 1000 nanometres are equal to:
A. One micrometre
B. Two micrometre
C. Three micrometre
D. Four micrometre

18 Haramosh mountain is 7398 meters high peak. what is the height of Batura Peak?
A. 7388 m
B. 7187 m
C. 7000 m
D. none of these.

19 The height of Raka poshi is ______.
A. 7788 m
B. 7700 m
C. 7800 m
D. none of these

20 The height of Sia-Kangri_I is
A. 24351 ft/7422 m
B. 19,800 ft/6518 m
C. 25,264 ft/7699 m
D. None of these

21 Which mountain range has the most summits in Pakistan?
A. Himayala
B. Karakoram
C. Hindu kush
D. None of these

22 There area  total of 14 main peaks soaring above 8,000 meters/26,000 ft in the world. Out
of these ____ are in Pakistan. 

A. 5
B. 8
C. 1
D. 1

23 In Gilgit within the radius of 65 miles there are over two dozens peaks ranging in height
between _______.

A. 18,000-26,000 ft
B. 18,000-22,000 ft
C. 18,000-24,000 ft
D. none of these

24 In the World's mountain ranking, Broad Peak is ranked as ____ highest.
A. 12th
B. 14th
C. 16th
D. 10th

25 Broad Peak was conquered on _______.
A. June 9, 1955
B. June 9, 1957
C. June 9, 1958
D. None of these

26 The broad peak was named by ______.
A. Martin Conway
B. Karl Herligk
C. Nick Clinch
D. None of these

27 The height of broad peak is______.
A. 26,445 ft/8060 m
B. 26,400 ft/8047 m
C. 25,552 ft/7788 m
D. 25,230 ft/7690m

28 The another name of Gasherbrum is hidden peak, because it was hidden by neighbouring
peak of ______.

A. Baltoro glacier
B. Biafo glacier
C. Hispar glacier
D. None of these

29 Gasherbrum was first conquered in 1958 by ____.
A. American expeditions
B. German&nbsp;expeditions
C. Pakistani&nbsp;expeditions
D. none of these

30 Gasherbrum I was first attempted by Martin Conway in ______.

A. 1890

B. 1891
C. 1892
D. 1893

31 The height of Gasherbrum I is ____
A. 26,470 ft/8068 m
B. 28,250 ft/8611 m
C. 26,660 ft/8125 m
D. none of these

32 Gasherbrum I is ranked as the _____ highest peak in the world.
A. 9th
B. 10th
C. 11th
D. 12th

33 Ashraf Aman was the first Pakistani who climbed on the top of K-2 in ____
A. 1975
B. 1976
C. 1977



C. 1977
D. 1978

34 K-2 was first attempted in 1902 by ______.
A. Godwin Austin
B. Martin Conway
C. Ichire Yoshizawa
D. None of these

35 The height of K-2 in meters is ______.
A. 8,626 meters
B. 8,611 meters
C. 8,600 meters
D. None of these

36 K-2 was ascended on ______.
A. July 31, 1954
B. July 31, 1953
C. July 31, 1955
D. None of these

37 K-2 is situated in _____.
A. Himalayan range
B. Hindu kush range
C. Karakoram range
D. None of these

38 The height of K-2 is ______.
A. 28,300 ft
B. 28,269 ft
C. 28,500 ft
D. None of these

39 Name the surveyor general of India, who suggested that the peak be named as Godwin
Austin. 

A. Sir George Everest
B. General Walker
C. Henry Godwin Austin
D. None of these.

40 K-2 is the world's second highest peak. It was discovered and measured by the Himalayan
surveyor, Henry Godwin Austin in ____. 

A. 1851
B. 1855
C. 1857
D. 1858

41 The khunjerab pass is an important pass linking Pakistan and ____ through the karakoram
Highway.

A. China
B. India
C. Iran
D. Afghanistan

42 The Snowline in the southern Karakoram is at a height of approximately 5000 meters _____.
A. 2300
B. 3300
C. 4300
D. 5300

43 The Biafo glacier is _____ kilometers wide.
A. 52.5
B. 62.5
C. 72.5
D. 82.5

44 The longest glacier is Siachin cover is ___ kilometers. 
A. 72
B. 82
C. 92
D. 102

45 The Karakoram range is the most extensively snow covered range and 18 glaciers range in
length from 7 to _____ kilometers. 

A. 52
B. 62
C. 72
D. 82


